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A line PQ, inclined at 450 (o fhe V. his-a.60
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~ Answer any five questions - SR
All questions carry equal marks

‘Draw .a rectangular hyp‘erb(_)la whose directices are 40 mm apart and: locate its

~foci and vertices. :
- Construct a scale of RF 1:40 to read meters and decimeters and long enough to

measure up to 6 m. Mark on it distarices of 4.7 m and 3.2m. U T1+8]

Draw a hyperbola when the eccentricity is 3/2 and the distance between focus
- and directrix is.55 mm. Also draw. tangent and normal.to the curve at a point

(o

40 mm from focus. RN _
The actual length of 500°m is-représented by a line of 15 c¢m on a drawing.

~ Construct a vernier scale’fo ;éad upto 600 m. Mark on the scale a length of 549 m.

OE G [8+7]

4

mm long front view. The end P is
10 mm from boeth the.principal planes while the end Q is 45 mm above the H.P.

Draw the projections of the line 4nd determirie its true length and iriclinations

with the priricipal planes:-Also, Tocate'its traces. ' 3]
' t A ‘“":.‘”_(.."" . . ”u% \\’ﬁ;i{ . . .

A hexagonalpnsmha’vmgbase with a 25 mm side and 70-mm long axis, rests-on

a rectangular faceéqn-f%ﬁe H.P, such that the axis is parallel to and:60 mm in front

of the V.P. Draw if‘s’\-\'_fi*;i)'ﬁt;f“ fopsand side views. - [15]

e, i

- A hexagonal prism, having base with a 30 mm side and-a 70 mm long axis; is

resting on one of the edges of its base in the H.P. such that this edge makes 60°
with the V.P: and the base makes an angle of 60° with the H.P. Draw its
projections. o B [15]

: OR _ _ _ :
A triangular prism, having a base with a 50 mm side and a 75 mm long axis, is

1lying on one of its rectangular faces in H.P. with its axis perpendicular to the V.P.

It is cut by a horizontal section plane such that the true shape of the section'is a
rectangle with 35 mm and 75 mim sides. Draw its front view and sectional top

view. : - [13]






A cone of base diameter 70 mm and height 100 mm rests on the HP on its base
and is penetrated by a horizontal cylinder of diameter 45 mm. The axis of cylinder
is 9 mm away from the axis of the cone and at a distance 30 mm above the base of

the cofie. Draw the projections of the solids showing .the curve of mtersectmn 3

~between the sohds o _ -[15]

10. .

OR

.. Develop the lateral surface of a frustum of cone of heIght 60 mm, base circle

dlameter 60 mm and top surface dlameter 30 mm. o [15]

- A paper weight consists of three portions, The bottom-most pOrtlon is a cyhncler o

with a 80 mm diameter and 25 mm-height. On it is situated the middle portion

‘which is the frustum of a cone with a 80 mm base diameter, 50 mm top diameter

and 40 mm height. The topmost portion is" hemi-sphere with a 30 mm radius.
Draw the 1sometr1c pI‘O_]eCtIGIl of the secnon o _ : _' [15]

A cube on 5 mm edge lies with a face on the ground and an edgc on the picture
plane. All the vertical faces are equally inclined to PP. The SP is 80 mm from PP
and 60.mm f10111 GP. The edge of the cube in contact with the plcture plang is

i

situated 10 mm to the: rlght Eff the stanon point. Draw the perspective v1ew of the o

cube _ o [15]







